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Section -I 2x25=50 Jile
2- Write short answers of any eight parts from the following. 2x8=16 i A and e S il -2
i. What is meant by capital goods? Yo sl bl LY
n Whal is positive science? ' fe i -'I'!'jb £
i Define Ecanomic Laws, ; i -._.a,-*J- e i
iv. Define consumption of wealth. Y | T
v. What is negative utiity? "L nud l" v
wt. Write four assumptians of law of decreasing marginal utiity, /"‘ Ly »‘Nhf‘ Bdlt i
vii. What is meant by marginal rate of substitution? 7 ’-f-:-—--.al"&""k.-.":ﬁ- il
viil. Define simulianeous equations. _é,’_;J’;d'J;.,L,.J, il
ix. What is exceptional demand curve? ._Lf"._m.n,.»-r %
x. Write three causes of negative slope of demad curve - .,L; ’U-J :(«'J’_...Jk- E
xi. Write formula of point elasticity. .,_,—-' IJ_?’,U(._.U xi
¥i, What is meant by derived demand? fae f.,._,.__J-b;-’; xii
3- Write short answars of any aight parts from the following. 2x8=16 Lé-:._,.rf;x"f_.f:ﬂ.-r l.-.-.J:(:.L,nL,t;t,u -3
i. What is meant by shert run supply? A ft-;_p m..,r.."l":--
ii. Explain the difference between expansion i supply and nse in su%r it |,,_),U:_a=,g y,.k_'__ aep At
iii. What is meant by zero elasticity of supply? LN ET SR Y YT
iv. Differentiate between stock and supply. / W S S L a5 v
v. What 1s meant by Markel? / Y e S v
vi. What is meant by Land? / e dtpe L0 i
vii. What is meant by social mobility of fabour? / et driiteder i
viil. Differentiate between wealth and capiial. /; =il f:;b )L,-..,,.y.-m'..)n winl
. Write down the names of four kinds of business organizaﬁon. -,;'.":L 2o 'ub.,hr ‘- alaar ix
x. What is meant by Production Function? / 1'nf._v""l'& %
¥i. What is meant by small scale production? L._J/J.,_. A Zl, ¥l
xii. Define law of constan: returns. / - ;u,..a ,*UJ"I.,,}L: S il
4- Write short answers of any nine parts from the !%ﬁwlng. 2x9=18 -J..-.I,lﬂ/ﬂﬁ;i e )(:-u-\,t:w; -4
i. What is meant by average fixed cost? AL rtf._J,w tarther
il. Define average variabel cost. ] -;z:-. Ll fu.,.».a':‘ Besl L0
ii. What is mean! by firm's demad@urve? f' ‘i. ol .T.—'l"]'p._"," in
iwv. What is meani by equilibrium of Sem™” I.fr S ,|,-,;__,_,,-.L»,J w
v. How is average revenue calulated? Fa .-jbu-:l-'*._grs- it v
vi. White the refation between average revenus and n‘rgrginal revenue under monopoly, .2 UJ’JFJ r’:f"’:dw":bﬂ [N v
vii. What is meani by exlentof market? / “-_r PSR KSR
viil, Write down foup Ehardeteristics of perfect mmfaeh‘.cn ST ?L-uv"u G #um
. What is meamt by Marginal Land? } Ye s /LJ.:_.\,- PCLLI
x. Define QuasiRent. ; .; . -, LTI
xi, Wrilé down four objectives of Labour Unions_'l -e.'fLMh e A
il What is meant by compound profit? ! o sipl/ o SR
xlipWhat is meant by interest? i L
Section-11 . (9.0
Note: Answer any three questions from the fé!lcwing. 10x3=30 ,q/f/,f.;.gm:.:.urr -_f e Ure ot e iy
5. Define an indifference curve and write ils properties 0 TS T P i P -
6. Wha is supply? Explain with the help of schedule and diagram. e sl A e B
7. Explain the Law of Increasing Retum _ ey RERAREHE T
B. Explain the relationship between long ru~ average cost and B O R -l Lt B
marginal cosl with he help of graph e
the help of a grap» e PN s At

9, Explain the equilibrium of a firm under moropaly with
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NOTE: Write answers to the questions on abjective answer sheet provided Four possible answers A B.C & D to each
question are given YWhich answer you consider correcl, fill the corresponding circle A.8.C or D given in frant of each
question with Marker or pen ink on the answer sheel provided

1.1. The baok "An Enquiry info the Nature and Causes of Wealth of _Uige ".'J-;':}",;.;,I_.:r.,.-.-';.,‘;'i_:ﬂ_-Je,:_-(,‘ IR |

Nations” was wriltan by: .
{A) Adam Smith 277 (B) Marshail JA {C) Robbins . / {D)_Ricardo +hy.

2. Consumers and entrepreneurs are guided in’ ru '-L-"qﬂ_' Ty s 2
{A} Political Science L=t (B} Economics, ="~ [C) Physics _,w'“/ (D) Chemistry 20 2t

3. When marginal utility becomes negative then tolal utility
(A) Rises @y B) Falls <7
(C) Becomes zera < tr 2 D) Bec.umes egative ._cn,

4. The ather name of Equi-Marginal Utity 15 Law of. .I_I-:l'ﬂ,.{?"",,urbf,;_,—._;;;p 4
(A) Demane A #F  (B) Subsitutuion  JaPifF (C) Supply faen /T (D) Costs i fF

||l,_,1.:.t'rd"nh’ 3

5. The curve of linear equation is: g
(A) Straightline £ ls  (B) Oval % (€) Curybd i:s

6. Example of complementary demand ISt &
{A) Cricket ball and bat w;,rJLH.’ (B} BAok and mabile Sl -

{C) Water and shoes Frui 15 (DY House and school )& 4
7 The downward movement atong the demand curve is called
(A) Fallin demand &/ ¥_% {
{C) Extension of demand t=f¥_* f
8. Elasticity of supply of durable goods s ‘ ;,j-,;_ﬁ L ,j.,,.u LB

(A} Less | {B) More nlJ / {C) Vertical {D) Herizanal u‘l

-

9. Supply of fish is: ) N Y
(A} Long run supply et @ s wialbaife
{C) Market period supply sk
10, When demand and supply of goods rises enually, then, of et goods 1d i T et ae _,:.hfé"-v(:__. 10
{A) Falls <. b/ {B} Remains same ¢ (C))Rises -;-l.::*-,ra-:: {D) becomes zer0  &-Jbw b
1 Mental and physucal work is called ._rJ-ff._;Lr-‘nl A
(A} Capital .\ (B} Organi ( {Cy Land =7 (D) Labour =
12.  Which of the fottawing is not a kind 5 anization? = U:-’Fjr':ii-’,g_.,g'tﬁb:h[;b,, 12
(A) Sole entrepreneur 7 lsis (B) Partnership =15 )
(C) Capital formation o / (D) Joint Stock Company ¥ (1 72
13 Production according to d e Dot TR 43
y (B} Small scate U-" T
(D} Imernal economies .7 s
14 is galned _.i_eccnomies L o SRR ol
(B} Internat d.-; i (C) Private g (D) Pubiic .6~
15. is not Nxed cost T A
l/t-.....w ; (B) Salary of watchman » -i:.',r"»;
ges of labout = 21imp ' ‘(D) Putchase of machine . fou®
16. Difference between total revenue and totai cosi of a firm is called o i, : e
{A) Marginal Cost .y (B) Loss of fiem  pLie=r
{C) Profit of firm L,u-'&(_.ﬂ E (D) Profn of entrepreneur Soedi’
17. \Where marginal revenue s equal to marginal cost i called. e T ,:.f.,.,'-.wf‘i -—-:'."":_ u
(A} Consumer's equilibrium ot FEFos {B) Frrre equiltbrum  ooovsp
{C) Markel equilibrium 7K (D) Buyer's cquilibrium  orif61.7
18, Which brings logether buyer and seiler? BT S ERE L
{A) Market - (B) Consumer il (C) Govemment e o) Firm )
19. Interest is reward aof: ke 1R
(A) Land oS5 (B} Labour = {C) Capital ..~ {D) Qrgarzaton la:*'
20. Motive for transactive damand for money depends on: __e_;-.,-,,;'] ,’____;.r_;,,;;;';: el
{A) Interest o (B) Rent .__'_',f' {C) Wage =2 (D} Incorms _ Hg
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